
 

Mean probability distribution: 

 

μ ൌ෍ሾ𝑥 ⋅ 𝑝ሺ𝑥ሻሿ 

 

Variance probability distribution: 

 

σଶ ൌ෍ሾ𝑥ଶ ⋅ 𝑝ሺ𝑥ሻሿ െ μଶ 

 
Standard Deviation probability distribution: 

σ ൌ  ට෍ሾxଶ ⋅ 𝑝ሺxሻሿ െ 𝜇ଶ 

 

Binomial distribution: 

 

𝑃ሺ𝑥ሻ ൌ 𝑛𝐶𝑥 ⋅ 𝑝௫ ⋅ 𝑞௡ି௫        where      𝑞 ൌ  1 െ 𝑝       and   𝑛𝐶𝑟  on calculators is   𝑛𝐶𝑟   𝑜𝑟  ൌ
௡!

௥!ሺ௡ି௥ሻ!
 

 
Mean (binomial distribution): 

 

μ ൌ 𝑛 ⋅ 𝑝 

 
Variance (binomial distribution): 

 

σଶ ൌ 𝑛 ⋅ 𝑝 ⋅ 𝑞 

Standard Deviation (binomial distribution): 

 

σ ൌ ඥ𝑛 ⋅ 𝑝 ⋅ 𝑞 

Normal Distribution: 

 

𝑧 ൌ
𝑥 െ μ
σ

 

 

Solving for 𝑥:      𝑥 ൌ  𝜇 ൅  𝑧 ⋅ 𝜎 

 
Normal Distribution (Central Limit theorem), for sample size  𝑛: 

 

𝑧 ൌ
𝑥 െ μ

σ/√𝑛
 


